Trigonometry

] opposite hypotenuse 1
SiINnA=—"—-—""7- cscA = - =—
hypotenuse opposite sinA
adjacent hypotenuse 1
COSA=——"— secA = - =
hypotenuse adjacent cosA
opposite adjacent 1
tanA = —F———— cotA = — =
adjacent opposite tanA
sinA in(—A) = —si
— tanA sin(—A) sin A
cos A cos(—A) = cos (A)

sin A = cos(90° — A)
cos A = sin(90° — A)

sin 2A = 2 (sin A) (cos A)
cos 2A = cos? A — sin? A

sin?A =1 — cos? A
sinfA+cos?A=1

cos? A = 1— sin?A

tan?A + 1 = sec?A
s5ec ZA — tanzA =1

sec?A -1 = tan?A
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(cost,sint)

1+ cot?A = csc?A
cot?A = csc?A -1

1 = csc?A — cot?A
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Trigonometry Formulas

A H C

Area = %ab sinC

a _ b _ ¢
sinA ~ sinB ~ sinC

2

Law of sines:

, 2 2
Law of cosines: b= a” + ¢” — 2ac(cos B)



